[N of associated tracks (recoToSim) vs dR ]

N of reconstructed tracks vs dR

syoel ann

syoel

—_—

107

track min AR

track min AR

| N of associated (recoToSim) looper tracks vs dR |

24
<
£
£
x
Q
IS}
=
o
=1
b
o
-
1 P
P
o
i : 3 e
g 28
5 5 one;
o ol ey
3 3
E E
3 3 .
S8 24
S5 <
w £
S 9 S
8 8f %
o
353 -+ 8
Q0@ [S)
ST =1
03 63
0la?
MTTD_T
(==t
e e
[
333 ¥
L | o
ssss[ =1
egegeqs]
(syayaya)
S 3

syoel) axe}

1

48

track AR(track

1072

107

| N of associated tracks (recoToSim) vs dR(track jet) |

'

track AR(track.

1072

107

[[N of reconstructed tracks vs dR(track jet) ]

-2 -1
10 track AR(track, je]ts)

| N of associated (recoToSim) looper tracks vs dR(track jet) |

107

-2 -1
10 track AR(track, je]tg)



	Contents
	Page 1


